## Shop with ease using Officeworks School List Service



Back to School, all sorted. officeworks.com.au/booklist

Burpengary State Secondary College			Year 10		
Code	Description	Qty	Essential	Unit Price (incl. GST)	Total Price (incl. GST)
GENERAL STATIO	ONERY				
PA182103	Artline Smoove Ballpoint Pen Blue	10	Yes	\$0.39	\$3.90
PA182101	Artline Smoove Ballpoint Pen Black	5	Yes	\$0.39	\$1.95
PA182102	Artline Smoove Ballpoint Pen Red	2	Yes	\$0.39	\$0.78
ST3060N2OW	Staedtler Natural Graphite Pencils HB	10	Yes	\$0.39	\$3.90
ST3060N0OW	Staedtler Natural Graphite Pencils 2B	10	Yes	\$0.39	\$3.90
SMGCHERLGE	Studymate Eraser Large	1	Yes	\$0.25	\$0.25
SM49639	Studymate Metal Wedge 2 Hole Sharpener	1	Yes	\$0.99	\$0.99
SMRUL30CL	Studymate Recycled Plastic Ruler 30cm Clear	1	Yes	\$0.50	\$0.50
SM02850723	Studymate Twin Zip Pencil Case Blue Large Tartan	1	Yes	\$2.98	\$2.98
JBHYBJ44AB	J.Burrows Antimicrobial Chisel Highlighters 4 Pack Assorted	1	Yes	\$3.99	\$3.99
SMSS15	Studymate Soft Grip Scissors 7"/177mm	1	Yes	\$3.55	\$3.55
SDCZ5032GB	SanDisk 32GB Cruzer Blade USB Flash Drive Black	1	Yes	\$7.85	\$7.85
ST143NC12	Staedtler Natural Coloured Pencils 12 Pack	1	Yes	\$4.98	\$4.98
SM3500D	Studymate Glue Stick 35g	2	Yes	\$1.19	\$2.38
KESP10	Keji Sheet Protector A4 Light Weight 10 Pack	1	Yes	\$0.90	\$0.90
TETI30XBI	Texas Instruments Scientific Calculator TI-30XB Multiview	1	Yes	\$28.00	\$28.00
				Sub Total	\$70.80
ENGLISH					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	2	Yes	\$1.65	\$3.30
				Sub Total	\$3.30
MATHEMATICS					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	6	Yes	\$1.65	\$9.90
SMGDB1096R	Studymate A4 70gsm Recycled 10mm Grid Book 96 Page	1	Yes	\$1.69	\$1.69
				Sub Total	\$11.59
SCIENCE					
SMRECEB96R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 96 Page	2	Yes	\$1.25	\$2.50
JBRDWBA4BE	J.Burrows A4 Recycled Button Document Wallet Blue	1	Yes	\$2.00	\$2.00
				Sub Total	\$4.50
PSYCHOLOGY					
SMRECEB96R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 96 Page	2	Yes	\$1.25	\$2.50
JBRDWBA4GN	J.Burrows A4 Recycled Button Document Wallet Green	1	Yes	\$2.00	\$2.00

				Sub Total	\$4.50
HISTORY					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
CIVICS & CITIZE					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
GEOGRAPHY					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
BUSINESS					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
JAPANESE					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
NBDSPBBE	Keji Display Book A4 20 Pocket Refillable Light Weight Blue	1	Yes	\$0.99	\$0.99
KJOEWMICBK	Keji On-ear Wired Headphones with Microphone Black	1	Yes	\$10.00	\$10.00
				Sub Total	\$12.64
HEALTH					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
NBDSPBBE	Keji Display Book A4 20 Pocket Refillable Light Weight Blue	1	Yes	\$0.99	\$0.99
				Sub Total	\$2.64
PHYSICAL EDUC	CATION				
SMRECEB96R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 96 Page	1	Yes	\$1.25	\$1.25
				Sub Total	\$1.25
HOSPITALITY					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
NBDSPBBK	Keji Display Book A4 20 Pocket Refillable Light Weight Black	1	Yes	\$0.99	\$0.99
				Sub Total	\$2.64
CHILDCARE					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
NBDSPBCRBK	Keji Display Book A4 20 Pocket Refillable Clear and Black	1	Yes	\$0.99	\$0.99
				Sub Total	\$2.64
FASHION					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
FA16114462	Faber-Castell Watercolour Pencils 12 Pack	1	Yes	\$11.98	\$11.98
NBDSPBBK	Keji Display Book A4 20 Pocket Refillable Light Weight Black	1	Yes	\$0.99	\$0.99
BO01E0301	Born A4 Visual Art Diary 120 Page	1	Yes	\$3.98	\$3.98
				Sub Total	\$18.60
VISUAL ARTS					
BO01E0301	Born A4 Visual Art Diary 120 Page	1	Yes	\$3.98	\$3.98
ST1102H1	Staedtler Tradition Graphite Pencil 2H	2	Yes	\$0.87	\$1.74
ST110H1	Staedtler Tradition Graphite Pencil H	2	Yes	\$0.87	\$1.74
ST1104B1	Staedtler Tradition Graphite Pencil 4B	2	Yes	\$0.87	\$1.74
	<u> </u>				

DANCE					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
DRAMA					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
MEDIA					
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
KJIE5192BK	Keji Earphones with Inline Mic Black	1	Yes	\$4.00	\$4.00
NBDSPBBK	Keji Display Book A4 20 Pocket Refillable Light Weight Black	1	Yes	\$0.99	\$0.99
				Sub Total	\$6.64
MUSIC					
SMNA4MB96R	Studymate A4 Recycled Music Book 96 Page	1	Yes	\$2.59	\$2.59
NBDSPBBK	Keji Display Book A4 20 Pocket Refillable Light Weight Black	1	Yes	\$0.99	\$0.99
				Sub Total	\$3.58
ENGINEERING ST	UDIES				
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
NBDSPBBE	Keji Display Book A4 20 Pocket Refillable Light Weight Blue	1	Yes	\$0.99	\$0.99
				Sub Total	\$2.64
TRADE FURNISHI	NGS				
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
TRADE ENGINEER	RING				
SMRCEB128R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 128 Page	1	Yes	\$1.65	\$1.65
				Sub Total	\$1.65
SUSTAINABLE AC	GICULTURE				
SMRECEB96R	Studymate A4 70gsm 8mm Ruled Recycled Exercise Book 96 Page	2	Yes	\$1.25	\$2.50
JBRDWBA4CR	J.Burrows A4 Recycled Button Document Wallet Clear	1	Yes	\$2.00	\$2.00
				Sub Total	\$4.50
				Grand Total	\$174.86

## **Notes for Parents**

Information Technology: No Materials required for this subject

Additional supplies required if you are studying the below subjects:

CHILDCARE:

1x polo shirt required for placement

DANCE:

(Performance Blacks)

1x Black t-shirt

1x black leggings/shorts/pants

DRAMA:
(Performance Blacks)
1x Black t-shirt
1x black leggings/shorts/pants
HOSPITALITY:
1x Polo shirt
1x Chefs Jacket
1x Chefs Hat